Inclined Planes

Directions: Show the solutions (i.e. your work) to these on a separate sheet of paper.  The answers on the side use the convention that positive (+) is up the plane, and negative (-) down. F|| is the component of the weight parallel to the plane, and Fperp is the component perpendicular.  

	a) 12.1 N, 17.3 N

b) -5.62 m/s/s (down)

c) +12.1 N (up)


	1. A 2.15 kg block of wood is on a frictionless inclined plane that makes an angle of 35.0o with the horizontal.  a) Find F||, and Fperp  b) If the block is released on the plane, what will be its acceleration down the plane?  c) What force in what direction would prevent it from accelerating down the plane?  

	a) 36 N, 33 N

b) -7.2 m/s/s (down)

c) 1.9 s

d) +58 N (up)

e) +13 N (up)
	2. A 5.00 kg block of wood is on a frictionless 13 m long inclined plane that makes an angle of 47o with the horizontal.  a) Find F||, and Fperp  b) If the block is released on the plane, what will be its acceleration down the plane?  c) What time will it take to slide down the plane if it is released at the top from rest?  d) What force in what direction will make the block accelerate up the plane at 4.50 m/s/s?  e) What force in what direction will make the block accelerate down the plane at 4.50 m/s/s?

	a) -5.6 m/s/s (down)

b) +2.2 m (up)

c) 1.8 s


	3. A block of Spam is on a frictionless inclined plane that makes an angle of 35o with the horizontal.  a) If the Spam is released on the plane, what will be its acceleration down the plane?  If the Spam is given a velocity of 5.0 m/s up the plane, b) how far up the plane will the block slide before coming back down, and c) what time will it take for the block to come back down to where it was released? 

	a) -7.2 m/s/s (down)

b) .94 s
	4. A thing is on a frictionless 3.2 m long inclined plane that makes an angle of 47o with the horizontal.  a) If the thing is released on the plane, what will be its acceleration down the plane?  b) What time will it take to slide down the plane if it is released at the top from rest?  

	a) 26.0 N, 41.6 N, 27.8 N, 14.1 N

b) No, +26.0 N (up)

c) -1.9 N (down)

d) -2.37 m/s/s (down)

e) +53.8 N (up)

f) -29.7 N (down)

g) +52.8 N (up)
	5. A 5.00 kg block of wood is on an inclined plane that makes an angle of 32.0o with the horizontal.  There is a static coefficient of friction of .670 and a kinetic of .340 between the block and the plane.  a) Find F||, Fperp, maximum Ffstatic, and Ffkinetic b) If the block is initially at rest on the plane, will it start to slide down the plane all by itself? What is the force of static friction that exists between the plane and the block when the block is at rest on the plane?  c) What additional force is needed to make the block start to slide down the plane?  d) Once it is started down the plane, what is its acceleration down the plane (with no applied force)?  e) What force is needed to make the block start sliding up the plane if it is initially at rest?  f) What force would make the block slide down the plane with an acceleration of 8.30 m/s/s(down the plane)?  g) What force would make the block slide up the plane with an acceleration of 2.55 m/s/s(up the plane)?  

	a) 96 N, 67 N, 57 N, 44 N

b) Yup

c) -4.4 m/s/s (down)

d) +150 N (up)

e) +34 N (up)

f) +2.0 x 102 N (up)
	6. A 12.0 kg block of wood is on an inclined plane that makes an angle of 55o with the horizontal.  There is a static coefficient of friction of .85 and a kinetic of .65 between the block and the plane.  a) Find F||, Fperp, maximum Ffstatic, and Ffkinetic b) If the block initially at rest on the plane, will it start to slide down the plane all by itself?  c) Once it is started down the plane, what is its acceleration down the plane?  d) What force is needed to make the block start sliding up the plane if it is initially at rest?  e) What force would make the block slide down the plane with an acceleration of 1.50 m/s/s(down the plane)?  f) What force would make the block slide up the plane with an acceleration of 5.4 m/s/s(up the plane)?  

	a) -79.8 N (down)

b) .487

c) -4.44 m/s/s (down)

d) +436 N (up)
	7 It takes a force of 275 N to slide a 26.0 kg box up a 50.0o inclined plane at a constant velocity. a) What is the force of friction opposing the motion?  b) What is the coefficient of friction between the box and the plane?  c) If the box were to slide freely down the plane, what would be its acceleration?  d) What force would make the box slide up the plane with an acceleration of 6.2 m/s/s(up the plane)?

	a) Nope

b) -1.1 m/s/s (down)

c) +1.3 m (up)

d) 2.2 s

e) -1.7 m/s (down)
	8. A piece of candy is on an inclined plane that makes an angle of 23o with the horizontal.  There is a static coefficient of friction of .72 and a kinetic of .30 between the candy and the plane.  a) If the candy is initially at rest on the plane, will it start to slide down the plane all by itself?  b) Once it is started down the plane, what is its acceleration down the plane?  If it is given a shove up the plane at 4.15 m/s, c) how far up the plane does it go, d) and what time does it take from when it is shoved up the plane, to when it gets back down to the bottom? (assuming it does not stick at the top), and e) what is its velocity when it returns?

	a) .662
	9. A crate is sliding at 3.20 m/s down a 27.6o plane and is stopped by friction in a distance of 4.22 m.  a) What is the coefficient of friction between the crate and the plane?


